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Ksp: Common ion

Problem

1. (brady768) What is the molar solubility of Pbl, in a 0.10M Nal solution? Ksp = 7.9 E-OM
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2. (brown664) Calculate the molar solubility of Can at 25°C in a solution that is 0.010M in Ca(NOs),
Ksp=3.9E-11 CaF,,
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3. (Kotz890) The solubility of AgCl is 1.3E-5M (0.001g/L). If some AgCl is placed in 1.00L of a 0.55
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4. (kotz891) Calculate the solubility of silver chromate, Ag,CrOy, at 25°C in pure water and in the

presence of 0.0050M K,CrO4. (Ksp = 9.0E-12) (Last modified 05-14-05)
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